

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



_{Form} 990-PF

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf.

20 **1 4**

Department of the Treasury Internal Revenue Service ▶ Do not enter social security numbers on this form as it may be made public.

2014

Open to Public Inspection

For calendar year 2014 or tax year beginning 2014, and ending 20 Name of foundation A Employer identification number Esbenshade Foundation 55-0779947 Number and street (or P O box number if mail is not delivered to street address) B Telephone number (see instructions) Room/suite 304-295-3311 City or town, state or province, country, and ZIP or foreign postal code C If exemption application is pending, check here ▶ Vienna, WV 26105 ☐ Initial return of a former public charity G Check all that apply: ☐ Initial return D 1. Foreign organizations, check here ☐ Amended return ☐ Final return 2. Foreign organizations meeting the 85% test, □ Address change □ Name change check here and attach computation E If private foundation status was terminated under H Check type of organization Section 501(c)(3) exempt private foundation ▶□ section 507(b)(1)(A), check here ☐ Section 4947(a)(1) nonexempt charitable trust ☐ Other taxable private foundation Fair market value of all assets at J Accounting method: ✓ Cash ☐ Accrual F If the foundation is in a 60-month termination end of year (from Part II. col (c). under section 507(b)(1)(B), check here Other (specify) ▶ □ line 16) ▶ \$ (Part I, column (d) must be on cash basis) 3,000,376 Part I Analysis of Revenue and Expenses (The total of (d) Disbursements (a) Revenue and (b) Net investment (c) Adjusted net for chantable amounts in columns (b), (c), and (d) may not necessarily equal expenses per books income income purposes (cash basis only) the amounts in column (a) (see instructions)) Contributions, gifts, grants, etc., received (attach schedule) 390,651 2 Check ► ☐ if the foundation is **not** required to attach Sch B 3 Interest on savings and temporary cash investments 18 18 Dividends and interest from securities 48.655 48.655 5a Gross rents b Net rental income or (loss) 6a Net gain or (loss) from sale of assets not on line 10 68,102 Gross sales price for all assets on line 6a b 7 Capital gain net income (from Part IV, line 2) 68,102 8 Net short-term capital gain 0 Income modifications 10a Gross sales less returns and allowances b Less Cost of goods sold Gross profit or (loss) (attach schedule) 11 Other income (attach schedule) 99 12 Total. Add lines 1 through 11 507.525 116.775 13 Compensation of officers, directors, trustees, etc. Operating and Administrative Expenses 14 Other employee salaries and wages . 15 Pension plans, employee benefits 16a Legal fees (attach schedule) Accounting fees (attach schedule) Other professional fees lattect schedule С 14,677 14,677 17 Interest Taxes (attach spredule) (see instructions)
Depreciation (attach schedule) and dep 18 5,881 5,856 19 20 Occupancy 21 Travel, conferences 22 Printing and publications 23 Other expenses (attach schedule) 882 382 500 24 Total operating and administrative expenses. Add lines 13 through 23 . . . 20,940 20,915 25 Contributions, gifts, grants paid 234,550 234,550 26 Total expenses and disbursements. Add lines 24 and 25 255,990 20,915 235,075 27 Subtract line 26 from line 12: Excess of revenue over expenses and disbursements 251,535 **Net investment income** (if negative, enter -0-) . 94,860 **Adjusted net income** (if negative, enter -0-)

Рa	rt II	Attached schedules and amounts in the description column	Beginning of year	End of	year
		Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only. (See instructions.)	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash—non-interest-bearing			
	2	Savings and temporary cash investments	240,453	214,184	214,184
	3	Accounts receivable ▶			
		Less: allowance for doubtful accounts ▶			
	4	Pledges receivable ▶			
		Less: allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
		disqualified persons (attach schedule) (see instructions)			
	7	Other notes and loans receivable (attach schedule) ▶			
		Less: allowance for doubtful accounts ▶			
ts	8	Inventories for sale or use			
Assets	9	Prepaid expenses and deferred charges	175		
As	10a	Investments—U.S. and state government obligations (attach schedule)			
-	b	Investments—corporate stock (attach schedule)	1,428,113	1,706,092	2,786,192
	c	Investments—corporate bonds (attach schedule)	1,420,110	1,700,032	2,100,132
	11	Investments—land, buildings, and equipment: basis ▶			
	••	Less: accumulated depreciation (attach schedule)			
	12	Investments—mortgage loans			 -
	13	Investments—other (attach schedule)			
	14				
1	14	Land, buildings, and equipment: basis ▶			
	45	Less: accumulated depreciation (attach schedule) ▶			
	15	Other assets (describe ►) Total assets (to be completed by all filers—see the			
	16				
		instructions. Also, see page 1, item l)	1,668,741	1,920,276	3,000,376
	17	Accounts payable and accrued expenses			
S	18	Grants payable			
ı≝	19	Deferred revenue			
豆	20	Loans from officers, directors, trustees, and other disqualified persons			
Liabilities	21	Mortgages and other notes payable (attach schedule)			
_	22	Other liabilities (describe ►			
	23	Total liabilities (add lines 17 through 22)			
und Balances		Foundations that follow SFAS 117, check here Danie and complete lines 24 through 26 and lines 30 and 31.			
Ĕ	24	Unrestricted			
흥	25	Temporarily restricted			
8	26	Permanently restricted		-	
Ē		Foundations that do not follow SFAS 117, check here ▶ □			
교		and complete lines 27 through 31.			
ģ	27	Capital stock, trust principal, or current funds			
Net Assets or	28	Paid-in or capital surplus, or land, bldg., and equipment fund			
Se	29	Retained earnings, accumulated income, endowment, or other funds			
As	30	Total net assets or fund balances (see instructions)	1,668,741	1,920,276	
et	31	Total liabilities and net assets/fund balances (see	1,000,741	1,020,210	
Z	- '	instructions)	1,668,741	1,920,276	
Pa	rt III	Analysis of Changes in Net Assets or Fund Balances	1,000,741	1,320,276	
		al net assets or fund balances at beginning of year—Part II, colu	mn (a), line 30 (must	agree with	
-		of-year figure reported on prior year's return)		-	1,668,741
2		er amount from Part I, line 27a		ļ	251,535
3					231,333
_		er increases not included in line 2 (itemize)			4 000 070
4		Innes 1, 2, and 3		5	1,920,276
5	Tota	reases not included in line 2 (itemize) >	Part II column (b) lin	e 30 6	4 000 070
	1018	a not associa di fund balandes at end di year (line 4 minus line 5)—	arri, column (b), iiii		1,920,276

Part	(a) List and describe the ki	osses for Tax on Investment nd(s) of property sold (e.g., real estate, or common stock, 200 shs MLC Co)	Income	(b) How acquired P-Purchase D-Donation		ite acquired , day, yr)	(d) Date sold (mo , day, yr)
1a	See Statements 1 and 2			D-Donation	-		
<u></u>	oce statements range						
C			-				
d							
е							
	(e) Gross sales price	(f) Depreciation allowed (or allowable)		other basis nse of sale			n or (loss) (f) minus (g)
<u>a</u>							
<u>b</u>							
<u>c</u>							
d							
е	Consists and for a second second		. (- 10/01/00			
	Complete only for assets showing	ng gain in column (h) and owned by the					l (h) gain minus t less than -0-) or
	(i) F M V as of 12/31/69	(j) Adjusted basis as of 12/31/69		s of col (i) (j), if any			rom col (h))
a						-	
<u>b</u>							
c							
е		If gain, also	enter in Pa	rt I line 7)			
2	Capital gain net income or (n	let capital loss) { If (loss), ente	er -0- in Pai	rt I, line 7	2		68,102
3		er (loss) as defined in sections 122 line 8, column (c) (see instruction	s). If (loss)				
Dow					3		(2,662)
Part		Section 4940(e) for Reduced to foundations subject to the section					
Was t		his part blank ction 4942 tax on the distributable ialify under section 4940(e) Do no			oase pe	eriod?	☐ Yes ☐ No
1	Enter the appropriate amoun	it in each column for each year; se	e the instru	ictions before m	akıng a	ny entries	
Cale	(a) Base penod years endar year (or tax year beginning in)	(b) Adjusted qualifying distributions	Net value o	(c) f nonchantable-use a	ssets		(d) tribution ratio divided by col (c))
	2013	222,725		2,41	3,421		.09228
	2012	441,000	1		2,144		021385
	2011	12,183		1,80	9,128		.00673
	2010	30,750		1,40	6,594		.02186
	2009	43,000		1,04	3,961		.06226
2	Total of line 1, column (d)					2	.39698
3		the 5-year base period—divide the solution has been in existence if less the			the .	3	.079396
4	Enter the net value of noncha	aritable-use assets for 2014 from	Part X, line	5		4	2,793,167
5	Multiply line 4 by line 3 .					5	221,766
6	Enter 1% of net investment i	ncome (1% of Part I, line 27b)			.	6	949
7	Add lines 5 and 6				.	7	222,715
8		from Part XII, line 4 r than line 7, check the box in Par			. L	8 rt using a 1	235,075 % tax rate See the

Part	Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948—see i	nstrı	ıctio	ns)
1a	Exempt operating foundations described in section 4940(d)(2), check here \(\bigcup \) and enter "N/A" on line 1.			
ь	Date of ruling or determination letter (attach copy of letter if necessary—see instructions) Domestic foundations that meet the section 4940(e) requirements in Part V, check		0.40	
U	here Vandenter 1% of Part I, line 27b		949	-
С	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			
2	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0	
3	Add lines 1 and 2		949	
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)		0	
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0		949	
6	Credits/Payments.			
a	2014 estimated tax payments and 2013 overpayment credited to 2014 6a			
b	Exempt foreign organizations—tax withheld at source 6b			
c d	Tax paid with application for extension of time to file (Form 8868) . 6c			
7	Total credits and payments Add lines 6a through 6d		0	
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached		0	
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed		949	
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid > 10		040	
11	Enter the amount of line 10 to be: Credited to 2015 estimated tax ▶ Refunded ▶ 11		•	
Part	VII-A Statements Regarding Activities			
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it		Yes	No
	participate or intervene in any political campaign?	<u>1a</u>		✓
b	Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see Instructions for the definition)?	1b		1
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities			
С	Did the foundation file Form 1120-POL for this year?	1c		1
d	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year (1) On the foundation. ▶ \$ 0 (2) On foundation managers ▶ \$ 0			
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. ▶ \$ 0			
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2		/
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes			
4-		3		✓
4a b	Did the foundation have unrelated business gross income of \$1,000 or more during the year? If "Yes," has it filed a tax return on Form 990-T for this year?	4a 4b		_
5	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	5		1
	If "Yes," attach the statement required by General Instruction T.			
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either			
	 By language in the governing instrument, or By state legislation that effectively amends the governing instrument so that no mandatory directions that 			
	conflict with the state law remain in the governing instrument?			
7	Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV	7	1	_
, 8a	Enter the states to which the foundation reports or with which it is registered (see instructions)		٧	
	West Virginia			
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by <i>General Instruction G</i> ? <i>If "No," attach explanation</i>	8b	√	
9	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or			
-	4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV	9		1
10	Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their	Ť	-	
	names and addresses	10	1	

-3-

Part	VII-A Statements Regarding Activities (continued)			
11	At any time during the year, did the foundation, directly or indirectly, own a controlled entity within the meaning of section 512(b)(13)? If "Yes," attach schedule (see instructions)	11	_	✓
12	Did the foundation make a distribution to a donor advised fund over which the foundation or a disqualified person had advisory privileges? If "Yes," attach statement (see instructions)	12		1
13	Did the foundation comply with the public inspection requirements for its annual returns and exemption application?	13	✓	
	Website address ▶			
14		-295-		
45	Located at ► 166 60th Street, Vienna, WV ZIP+4 ► 26 Section 4947(a)(1) nonexempt charitable trusts filing Form 990-PF in lieu of Form 1041—Check here	105-8	3002	▶ □
15	and enter the amount of tax-exempt interest received or accrued during the year	•		
16	At any time during calendar year 2014, did the foundation have an interest in or a signature or other authority over a bank, securities, or other financial account in a foreign country?		Yes	No
	See the instructions for exceptions and filing requirements for FinCEN Form 114, (formerly TD F 90-22.1). If	16	L	<u> </u>
	"Yes," enter the name of the foreign country			
Part	VII-B Statements Regarding Activities for Which Form 4720 May Be Required			L
	File Form 4720 if any item is checked in the "Yes" column, unless an exception applies.		Yes	No
1a	During the year did the foundation (either directly or indirectly).			
	(1) Engage in the sale or exchange, or leasing of property with a disqualified person? . Yes No No disqualified person?			
	(3) Furnish goods, services, or facilities to (or accept them from) a disqualified person?		1	
	(4) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? (5) Transfer any income or assets to a disqualified person (or make any of either available for the benefit or use of a disqualified person)? (8) Pay compensation to, or pay or reimburse the expenses of, a disqualified person? (9) No			
	(6) Agree to pay money or property to a government official? (Exception. Check "No" if the foundation agreed to make a grant to or to employ the official for a period after termination of government service, if terminating within 90 days.)			
b	If any answer is "Yes" to 1a(1)–(6), did any of the acts fail to qualify under the exceptions described in Regulations section 53.4941(d)-3 or in a current notice regarding disaster assistance (see instructions)?	1b		
	Organizations relying on a current notice regarding disaster assistance check here			
С	Did the foundation engage in a prior year in any of the acts described in 1a, other than excepted acts, that were not corrected before the first day of the tax year beginning in 2014?	1c		
2	Taxes on failure to distribute income (section 4942) (does not apply for years the foundation was a private operating foundation defined in section 4942(j)(3) or 4942(j)(5)):			
а	At the end of tax year 2014, did the foundation have any undistributed income (lines 6d and 6e, Part XIII) for tax year(s) beginning before 2014?			
	If "Yes," list the years ▶ 20, 20, 20, 20			
b	Are there any years listed in 2a for which the foundation is not applying the provisions of section 4942(a)(2) (relating to incorrect valuation of assets) to the year's undistributed income? (If applying section 4942(a)(2) to all years listed, answer "No" and attach statement—see instructions.)	2b		
С	If the provisions of section 4942(a)(2) are being applied to any of the years listed in 2a, list the years here. ▶ 20 , 20 , 20 , 20			
3a	Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time during the year?			
b	If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969, (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest, or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C, Form 4720, to determine if the foundation had excess business holdings in 2014)	3b		
4a	Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?	4a		1
b	Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that had not been removed from jeopardy before the first day of the tax year beginning in 2014?	4b		

orm	990-PF	(2014)
····		(=0.7)

Page 6

Part	VII-B Statements Regarding Activitie	s for W	/hich Form	4720	May Be 🖁	equire	d (contir	nued)			
5a	During the year did the foundation pay or incur	any amo	ount to								
	(1) Carry on propaganda, or otherwise attempt(2) Influence the outcome of any specific publication						☐ Yes	⊘ No			
	directly or indirectly, any voter registration d					•	☐ Yes	 ✓ No			
	(3) Provide a grant to an individual for travel, st						☐ Yes	✓ No	1 1	ŀ	
	(4) Provide a grant to an organization other that section 4945(d)(4)(A)? (see instructions)	n a cha		organiz	ation desc	ribed ın	<u> </u>				
	(5) Provide for any purpose other than religious	s, charit	able, scientif	ıc, litera	ary, or educ	cational		✓ No		İ	
	purposes, or for the prevention of cruelty to							✓ No	1 1		
b	If any answer is "Yes" to 5a(1)–(5), did any of the Regulations section 53.4945 or in a current notice							ibed in	5b		
	Organizations relying on a current notice regard	ling disa	ster assistan	ce che	ck here .			▶□			
С		the four	ndation claim	exemp	ption from	the tax		_ □ No			
	If "Yes," attach the statement required by Regul	-	_							ŀ	
6a	Did the foundation, during the year, receive any					emiums					
						ē	Yes	⊘ No		- 1	
b						benefit	_		6ь		1
	If "Yes" to 6b, file Form 8870.	,	,	,,				•			·
	At any time during the tax year, was the foundation						☐ Yes	_		1	
	If "Yes," did the foundation receive any proceed								7b		
Par	t VIII Information About Officers, Direct	ctors, 1	rustees, F	ounda	tion Mana	agers,	Highly P	aid E	mploy	ees,	
	and Contractors										
1	List all officers, directors, trustees, foundation			,							
	(a) Name and address	hou	e, and average rs per week ed to position	i (If n	mpensation not paid, iter -0-)	emplo	Contributions byee benefit p erred compe	olans	(e) Exper	nse acc Illowan	
larry	H Esbenshade III					-					
1403 3	rd Avenue, Vienna, WV 26105	Preside	ent <1	<u> </u>	0		_	0			0
Thoma	as R Davies										
1104 G	Greenmont Circle, Vienna, WV 26105	Vice P	resident <1		0			0			0
Michae	el D Caın										
10665	Glendale Road, Cairo, WV 26337	Secy/T	reas <1		0			0			0
3ryan	J Ream										
1309 G	Greenmont Circle, Vienna, WV 26105	Directo	ors <1		0			0			0
2	Compensation of five highest-paid employe "NONE."	es (oth	er than tho	se incl	uđed on li	ne 1—:	see instri	uctions	s). If no	one, e	enter
	(a) Name and address of each employee paid more than \$50,0	000	(b) Title, and a hours per v devoted to p	veek	(c) Comper	nsation	(d) Contribution employee lipians and discompens	benefit leferred	(e) Exper	nse acc	
Vone					-						
											
							!				
									-		
Total	number of other employees paid over \$50,000 .							. ▶			

Par	Information About Officers, Directors, Trustees, Foundation Managers, Highly Paid Em and Contractors (continued)	ployees,
3	Five highest-paid independent contractors for professional services (see instructions). If none, enter "NON	É."
	(a) Name and address of each person paid more than \$50,000 (b) Type of service	(c) Compensation
None		
		·
Tota	I number of others receiving over \$50,000 for professional services	
Par	t IX-A Summary of Direct Charitable Activities	
	st the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the number of ganizations and other beneficianes served, conferences convened, research papers produced, etc.	Expenses
1	None	
2		
3		
4		
Pai	t IX-B Summary of Program-Related Investments (see instructions)	
	escribe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2	Amount
1	None	
2		
Al	other program-related investments. See instructions	
3		
T. 1	1 Add been 4 Abreviels 0	
ı ota	II. Add lines 1 through 3	

Part		gn founda	itions,
1	see instructions.) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc		
•	purposes.		
а	Average monthly fair market value of securities	1a	2 500 145
b	Average of monthly cash balances	1b	2,569,145
c	Fair market value of all other assets (see instructions)	1c	266,558
d	Total (add lines 1a, b, and c)	1d	2,835,703
e	Reduction claimed for blockage or other factors reported on lines 1a and	10	2,633,703
	1c (attach detailed explanation)		
2	Acquisition indebtedness applicable to line 1 assets	2	
3	Subtract line 2 from line 1d	3	2,835,703
4	Cash deemed held for charitable activities. Enter 1 ½ % of line 3 (for greater amount, see		2,033,703
	instructions)	4	42,536
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	2,793,167
6	Minimum investment return. Enter 5% of line 5	6	139,658
Part			S
1	Minimum investment return from Part X, line 6	1	139,658
2a	Tax on investment income for 2014 from Part VI, line 5		
b	Income tax for 2014. (This does not include the tax from Part VI) . 2b	1	
С	Add lines 2a and 2b	2c	949
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	138,709
4	Recoveries of amounts treated as qualifying distributions	4	
5	Add lines 3 and 4	5	138,709
6	Deduction from distributable amount (see instructions)	6	
7	Distributable amount as adjusted Subtract line 6 from line 5. Enter here and on Part XIII,		•
	line 1	7	138,709
Part	XII Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc —total from Part I, column (d), line 26	1a	235,075
b	Program-related investments—total from Part IX-B	1b	
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc.,		
	purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
а	Suitability test (pnor IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	235,075
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment income.		
	Enter 1% of Part I, line 27b (see instructions)	5	
6	Adjusted qualifying distributions. Subtract line 5 from line 4	6	235,075
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating	g whether t	the foundation

⊃art	VIII Undistributed Income (see instruction	ions)			
1	Distributable amount for 2014 from Part XI, line 7	(a) Corpus	(b) Years pnor to 2013	(c) 2013	(d) 2014
_					138,709
2	Undistributed income, if any, as of the end of 2014.			ا	
a	Enter amount for 2013 only			0	· · · · · · · · · · · · · · · · · · ·
Ъ	Total for prior years: 20,20,20		0		
3	Excess distributions carryover, if any, to 2014				
a	From 2009	<u>'</u>			
b	From 2010				
C.	From 2011				
d	From 2012 . 351,780				
e	From 2013	⊣ !			
f	Total of lines 3a through e	488,792			· · · · · · · · · · · · · · · · · · ·
4	Qualifying distributions for 2014 from Part XII, line 4. ► \$ 235,075			1	
a	Applied to 2013, but not more than line 2a.			0	
ь	Applied to undistributed income of prior years (Election required—see instructions)				
_	•		0		
С	Treated as distributions out of corpus (Election required—see instructions)				
	•			-	
d	Applied to 2014 distributable amount .				138,709
e	Remaining amount distributed out of corpus Excess distributions carryover applied to 2014	96,366			
5	(If an amount appears in column (d), the same	0			0
	amount must be shown in column (a))	ì			
6	Enter the net total of each column as indicated below:				
а	Corpus Add lines 3f, 4c, and 4e Subtract line 5	585,158			
b	Prior years' undistributed income Subtract				
	line 4b from line 2b		0		
С	Enter the amount of prior years' undistributed				
	income for which a notice of deficiency has				
	been issued, or on which the section 4942(a)				
	tax has been previously assessed		0		
d	Subtract line 6c from line 6b Taxable				
	amount—see instructions				
е	Undistributed income for 2013. Subtract line				
	4a from line 2a. Taxable amount—see				
	instructions			0	
f	Undistributed income for 2014 Subtract lines				
	4d and 5 from line 1. This amount must be				
	distributed in 2015				0
7	Amounts treated as distributions out of corpus			:	
	to satisfy requirements imposed by section				
	170(b)(1)(F) or 4942(g)(3) (Election may be				
	required—see instructions)	0			
8	Excess distributions carryover from 2009 not applied on line 5 or line 7 (see instructions).	İ			
0	• •	17,588			
9	Excess distributions carryover to 2015. Subtract lines 7 and 8 from line 6a	1			
40		567,570		***************************************	
10	Analysis of line 9:				
a	Excess from 2010	_			
b	Excess from 2011				
C	Excess from 2012				
d	Excess from 2013	⊣ i			
е	Excess from 2014 96,36	ןס-	1		L

unsolicited requests for funds. If the foundation makes gifts, grants, etc. (see instructions) to individuals or organizations under other conditions, complete items 2a, b, c, and d.

- The name, address, and telephone number or e-mail address of the person to whom applications should be addressed
- The form in which applications should be submitted and information and materials they should include
- Any submission deadlines
- Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

Part XV Supplementary Information (cont		a al 4a F		
3 Grants and Contributions Paid During t			ture Payment	1
Recipient	If recipient is an individual, show any relationship to any foundation manager	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient	CONTINUE	
a Paid during the year				
Duke University PO Box 90600, Durham, NC 27708			Duke Annual Fund	27,500
The Hill School 717 East High Street, Pottstown, PA 19464			Sports Camp	5,000
Marietta College 215 Fifth Street, Marietta, OH 45750			Marietta College Annual Fund	6,250
Mountaineer Athletic Club 3450 Monongahela Bld Rm 220, Morgantown, WV 26505			Men's Golf Program	16,000
Duke University 614 W Main Street, Durham, NC 27708			Esbenshade professorship	100,000
Duke University Box 90561, Durham, NC 27708		·	Scholarship Fund	25,000
The Hill School 717 East High Street, Pottstown, PA 19464			Green St Faculty Village	40,000
Artsbridge 935 Market Street, Parkersburg, WV 26101			2014 Operations	2,500
Kanawha Elementary School 6465 Staunton Pike, Davisville, WV 26142			Winter clothing	2,900
Vienna Elementary School 700 41st Street, Vienna, WV 26105			Winter clothing	3,200
Worthington Elementary School 2500 36th Street, Parkersburg, WV 26104			Winter clothing	6,200
Total		1	. ▶ 3 a	224.55
b Approved for future payment		<u> </u>	Jan Jan Jan Jan Jan Jan Jan Jan Jan Jan	234,550
None				
Total			▶ 3b	

Ento	rt XVI						
	er gros	s amounts unless otherwise indicated.	Unrelated but	siness income	Excluded by section	on 512, 513, or 514	(0)
			(a) Business code	(b) Amount	(c) Exclusion code	(d) Amount	(e) Related or exempt function income
1	Progi	ram service revenue:	Business code	Anount	LACIDSION CODE	Amount	(See instructions)
	а						
	b _						
	c _						
	ď						
	е _						
	f ⁻	-	-				
	g F	ees and contracts from government agencies					
2		bership dues and assessments .			-		
3		est on savings and temporary cash investments					
4		ends and interest from securities					
-		ental income or (loss) from real estate:			-		
J							
			-				
c		, , ,					
		ental income or (loss) from personal property					
7		r investment income					
8		or (loss) from sales of assets other than inventory					
9		ncome or (loss) from special events					
10		s profit or (loss) from sales of inventory			ļ		
11	Othe	r revenue a					
	b _					 	
	c _						
	d _						
	е						
12	Subte	otal. Add columns (b), (d), and (e) .					
13	Tota	I. Add line 12, columns (b), (d), and (e)				13	
See	works	sheet in line 13 instructions to verify calculation	ns)				
Pa	rt XVI	-B Relationship of Activities to the A	ccomplishm	ent of Exemp	ot Purposes		
Lin	- NI-						
			income is repo	rted in column	(e) of Part XVI	-A contributed in	mportantly to the
	e No. ▼	Explain below how each activity for which accomplishment of the foundation's exempt pur	income is reporposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the
			income is reporposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purpo	-A contributed in oses) (See instruc	mportantly to the ctions)
			income is repo rposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purpo	-A contributed in oses) (See instruc	mportantly to the ctions)
			income is reporposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the ctions)
			income is repo rposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the otions)
·-·			income is repo rposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purpe	-A contributed in oses) (See instruc	mportantly to the ctions)
			income is repo rposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purpe	-A contributed in oses) (See instruc	mportantly to the ctions)
			income is repo rposes (other than	rted in column n by providing fui	(e) of Part XVI nds for such purpe	-A contributed in oses) (See instruc	mportantly to the
			income is repo poses (other than	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the
			income is repo	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the
			Income is repo	rted in column n by providing fui	(e) of Part XVI nds for such purp	-A contributed in oses) (See instruc	mportantly to the
			Income is repo	rted in column n by providing fui	(e) of Part XVI	-A contributed in oses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in oses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in oses) (See instruc	mportantly to the
			income is repo	rted in column	(e) of Part XVI	-A contributed in oses) (See instruc	mportantly to the
			income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in page 1. A contributed in pag	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in page 1 (See instruction)	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the
			Income is reporposes (other than	rted in column	(e) of Part XVI	-A contributed in poses) (See instruc	mportantly to the

Part	XVII		n Regarding Tranganizations	sfers To and Tra	nsactions and	Relationshi	ps With N	oncharit	able	3-1-
1	ın se	he organization o	directly or indirectly	engage in any of the section 501(c)(3) org					Yes	No
а	_		oorting foundation to	o a noncharitable exe	ampt organization	of				
a	(1) (_	o a nonchantable ext	empt organization	01.			a(1)	
		Other assets .							a(2)	1
b		er transactions					• •	· -	4(2)	+-
U			a noncharitable exe	mot organization				4	b(1)	
				able exempt organiza				_ <u>_</u>	b(2)	1
										1
	(3) Rental of facilities, equipment, or other assets									
								<u>+</u>	b(5)	1
		_		nıp or fundraısing sol					b(6)	1
С				sts, other assets, or					1c	1
d		-		sis, other assets, or a		Column (h) c	 bould alwa			
u				ices given by the rep						
				jement, show in colu						
(a) Line		(b) Amount involved		haritable exempt organizat		ription of transfer				
(-, -, -, -, -, -, -, -, -, -, -, -, -, -		(a) ranioani interior	(0) / 10/10	Tarradio onomprorganiza	(4) 2000	inplient of transfer	o,aoao	5, 4110 01141111	ganangon	
										
							-			
			<u> </u>			-				
										
			<u> </u>			··· - ··				
										
			<u>-</u>							
				·		· · · · · · · · · · · · · · · · · · ·				
	10 46	- formulation disc		عداده ما دانه		A				
2a				filiated with, or relat other than section 50			ot organizat			
					ri(c)(3)) or in secti	0113279 .	•	· 📙	Yes 📙	NO
b	- II T		following schedule				(-) D	- f l - k l		
		(a) Name of organ	Ization	(b) Type of or	ganization	(c) Description	of relationsr	пр	
							 			
	1		1 .1							
Sign				ed this retum, including acco ian taxpayer) is based on all i				ny knowledge	and belief,	it is true,
	l k	111.1	1 1 -			•	Ĭ.	May the IRS with the prep		
Here		1 whan	Cam	5/8/15	Secretary/Ti	easurer		(see instruction		
	Sig	nature of officer or true		Date	Title	In:	<u>L</u>			
Paid		Print/Type preparer	's name	Preparer's signature		Date	Check		N	
Prep	arer				<u></u>		self-en	nployed		
Use (Firm's name ▶					Fırm's EIN ▶			
		Fırm's address ▶					Phone no			

Schedule B

(Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Name of the organization

Schedule of Contributors

► Attach to Form 990, Form 990-EZ, or Form 990-PF.

▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990.

OMB No 1545-0047

2014

Employer identification number

Esbensh	ade Foundation	55-0779947						
Organiz	Organization type (check one):							
Filers of: Section:								
Form 990 or 990-EZ		501(c)() (enter number) organization						
		4947(a)(1) nonexempt charitable trust not treated as a private fou	undation					
		527 political organization						
Form 99	0-PF	√ 501(c)(3) exempt private foundation						
		4947(a)(1) nonexempt charitable trust treated as a private founda	ition					
		501(c)(3) taxable private foundation						
Note. O	Check if your organization is covered by the General Rule or a Special Rule . Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions.							
Genera	Rule							
	For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. See instructions for determining a contributor's total contributions.							
Special	Rules							
	regulations under se 13, 16a, or 16b, and	described in section 501(c)(3) filing Form 990 or 990-EZ that met the 3 ctions 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 99 that received from any one contributor, during the year, total contributed amount on (i) Form 990, Part VIII, line 1h, or (ii) Form 990-EZ, line 1	90 or 990-EZ), Part II, line itions of the greater of (1)					
	contributor, during th	described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that ne year, total contributions of more than \$1,000 exclusively for religious al purposes, or for the prevention of cruelty to children or animals. Con	s, charitable, scientific,					
	For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions exclusively for religious, charitable, etc., purposes, but no such contributions totaled more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose. Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions totaling \$5,000 or more during the year							

Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2, of its Form 990; or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

Name of organization Employer identification number 55-0779947

Part I	Contributors (see instructions). Use duplicate copies of Part I if additional space is needed.					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
1	The Laurel Management Group, Inc. PO Box 5341 Vienna, WV 26105-5341	\$	Person			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
2	Tri-State Roofing & Sheet Metal Co of OH PO Box 1949 Parkersburg, WV 26102-1949	\$20,000	Person			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
3	Tri-State Roofing & Sheet Metal Co of PA PO Box 4255 Morgantown, WV 26504-4255	\$\$,000	Person			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
4	Service Roofing & Sheet Metal Co PO Box 1864 Greenville, NC 27835-1864	\$20,000	Person			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
5	Service Roofing & Sheet Metal Co PO Box 41285 Raleigh, NC 27629-1285	\$	Person			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
6	Whitley/Service Roofing & Sheet Metal Co PO Box 13085 Richmond, VA 23225-3085	\$ 20,000	Person			

Schedule B (Form 990, 990-EZ, or 990-PF) (2014) Page 2 Name of organization **Employer identification number Esbenshade Foundation** 55-0779947 Part I Contributors (see instructions). Use duplicate copies of Part I if additional space is needed. (a) (d) Name, address, and ZIP + 4 No. **Total contributions** Type of contribution ...7 Person Tri-State Roofing & Sheet Metal Co of WV **Payroll** 20,000 Noncash PO Box 1231 (Complete Part II for noncash contributions.) Charleston, WV 25324-1231 (a) (b) (d) (c) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution 8 Tri-State Roofing & Sheet Metal Co of KY Person **Payroll** PO Box 56 16,000 Noncash (Complete Part II for noncash contributions.) Lexington, KY 40588-0056 (a) (d) (c) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution 9 Harry H Esbenshade III Person Pavroil Noncash 7 250,651 4403 3rd Avenue (Complete Part II for Vienna, WV 26105-1807 noncash contributions) (a) (b) (c) (d) Total contributions No. Name, address, and ZIP + 4 Type of contribution Person **Payroll** Noncash (Complete Part II for noncash contributions.) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution Person **Payroll** Noncash (Complete Part II for noncash contributions.) (a) (b) (d) (c) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution Person **Payroll** Noncash (Complete Part II for

noncash contributions.)

Name of organization

Employer identification number

Esbenshade Foundation 55-0779947

Part II	Noncash Property (see instructions). Use duplicate copies of Part II if additional space is needed.							
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	300 shs Idexx Laboratories	\$44,528	Nov 25, 2014					
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	500 shs Mastercard	\$42,955	Nov 25, 2014					
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	350 shs Proctor & Gamble	\$30,950	Nov 25, 2014					
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	200 shs Sherwin Williams	\$	Nov 25, 2014					
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	500 shs American Express	\$	Dec 11, 2014					
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received					
9	500 Nestle SA Spon ADR	\$ 36,935	Dec 11, 2014					

ESBENSHADE FOUNDATION 990-PF 2014

55-0779947

SCHEDULE IN SUPPORT OF Part 1 - Item 16c

Other professional fee	Othe	r profe	ssiona	al fees
------------------------	------	---------	--------	---------

Ruane, Cunniff & Goldfarb

Foreign custody fees

Total

Gardner Russo & Gardner	
Investment advisory fees	10,667

Shafer Cullen Capital Management	
Investment advisory fees	3,136

Investment advisory fees	874
Total	14,677

SCHEDULE IN SUPPORT OF Part 1 - Item 18

Taxes

State of West Virginia	25
Foreign tax paid on dividends received	2,811
Excise tax on net investment income	3,045
Total	5,881
SCHEDULE IN SUPPORT OF Part 1 - Item 23	
Philanthropy West Virginia dues ADR fees	500 105

277

882

.
ESBENSHADE FOUNDATION
Statement #1 990-PF 2014
Part IV Capital Gains and Losses for Tax on Investment Income

LONG-TERM

a Shares	Common Stock	b How acquired c	Date acquired	d Date sold	e Gross sale f	Depreciation g Cost	h Gain or (loss)
Frac	IMI PLC	P	2/16/2011	2/18/2014	12 95	8 33	4 62
970	Pırellı & C SPA Azıone	Р	3/15/2011	3/25/2014	14,871 18	10,041 00	4,830.18
Frac	Hiscox LTD	Р	5/10/2010	3/20/2014	2 32	1 26	1 06
850	Chesapeak Energy Corp	Р	6/27/2012	4/25/2014	24,856 96	15,029 98	9,827 00
315	U S Bancorp DEL	Р	12/27/2007	4/25/2014	12,695 48	10,014 98	2,680 50
300	U S Bancorp DEL	P	4/17/2008	4/25/2014	12,090 93	9,906 00	2,184 93
100	Valeant Pharm Intl, Inc	P	7/20/2010	4/25/2014	13,326 70	1,866 18	11,460 52
3600	Qinetiq Group PLC London	Р	11/16/2009	10/21/2014	11,721 74	10,829 00	892 74
290	World Fuel Svcs Corp	P	6/7/2011	12/22/2014	13,778 35	9,953 96	3,824 39
Frac	IMI PLC	P	6/26/2012	2/20/2014	9 60	5 45	4 15
21	Pırellı & C SPA Azıone	Р	4/27/2012	3/18/2014	333 04	254 33	78 71
50	Pirelli & C SPA Azione	Р	4/27/2012	3/18/2014	771 20	606 02	165 18
25	Pirelli & C SPA Azione	Р	4/27/2012	3/20/2014	381 64	303 01	78 63
36	Pirelli & C SPA Azione	Р	Vanous	3/21/2014	546 06	431 80	114 26
50	Pirelli & C SPA Azione	Р	Vanous	3/24/2014	760 00	572 26	187 74
24	Pirelli & C SPA Azione	Р	Vanous	3/25/2014	371 10	272 71	98 39
25	Pirelli & C SPA Azione	P	Vanous	3/26/2014	385 17	278 99	106 18
30	Pirelli & C SPA Azione	Р	Vanous	3/27/2014	461 17	329 30	131 87
72	Pirelli & C SPA Azione	Р	8/3/2012	3/28/2014	1,147 12	742 74	404 38
26	Pirelli & C SPA Azione	Р	8/3/2012	3/31/2014	409 77	268 21	141 56
22	Pirelli & C SPA Azione	Р	8/3/2012	4/1/2014	347 18	226 95	120 23
17	Pirelli & C SPA Azione	Р	Vanous	4/2/2014	266 69	175 19	91 50
48	Pirelli & C SPA Azione	Р	Vanous	4/3/2014	743 79	483 89	259 90
8	Advance Auto Pts, Inc	Р	5/14/2012	12/3/2014	1,182 06	669 60	512 46
28	World Fuel Svcs Corp	Р	5/2/2012	12/31/2014	1,330 05	1,106 33	223 72
25	Scripps Networks Interactive	Р	8/30/2005	5/8/2014	1,912 12	1,151 59	760 53
25	Phillip Morns International Inc	с Р	7/16/2013	10/9/2014	2,132 28	2,254 50	(122 22)
10	Phillip Morns International Inc	Р	1/15/2013	10/9/2014	852 91	890 25	(37 34)
160	Bank of the Ozarks, Inc	Р	6/24/2010	7/10/2014	5,305 20	1,456 78	3,848 42
55	Bank of the Ozarks, Inc	Р	10/18/2010	7/10/2014	1,823 66	525 92	1,297 74
60	Borg Warner, Inc	Р	11/16/2012	4/16/2014	3,697 89	1,867 60	1,830 29
25	Charles River Labs Hidg	Р	6/24/2010	8/14/2014	1,467 29	867 48	599 81
50	Charles River Labs Hidg	P	10/18/2010	8/14/2014	2,934 58	1,662 45	1,272 13
50	Charles River Labs Hidg	P	3/1/2011	8/14/2014	2,934 57	1,853 95	1,080 62

ESBENSHADE FOUNDATION
Statement #1 990-PF 2014
Part IV Capital Gains and Losses for Tax on Investment Income

LONG-TERM

a Shares	Common Stock	b How acquired c	Date acquired of	Date sold	e Gross sale f. D	epreciation g Cost	h Gain or (loss)
40	Cimarex Energy Co	Р	6/24/2010	1/21/2014	4,105 62	2,880 55	1,225 07
25	Cimarex Energy Co	Р	10/18/2010	1/21/2014	2,566 01	1,856 63	709 38
5	Cimarex Energy Co	Р	10/18/2010	10/6/2014	601 65	371 32	230 33
20	Cimarex Energy Co	Р	8/9/2011	10/6/2014	2,406 59	1,353 23	1,053 36
15	Cimarex Energy Co	Р	6/7/2012	10/6/2014	1,804 93	770.60	1,034 33
10	Copa Holdings SA	Р	2/18/2011	8/7/2014	1,315 18	580 40	734 78
40	Copa Holdings SA	Р	3/1/2011	8/7/2014	5,260 70	2,121 95	3,138 75
25	Cracker Barrel Old Ctry	Р	3/1/2011	10/6/2014	2,591 24	1,223 97	1,367 27
165	ITT Corporation New	Р	11/1/2011	7/10/2014	7,779 53	3,056 55	4,722 98
150	Itron, Inc New	P	7/21/2011	12/17/2014	5,889 48	7,302 12	(1,412 64)
35	Itron, Inc New	Р	8/9/2011	12/17/2014	1,374 21	1,350 68	23 53
65	Lender Processing Svc	P	11/2/2012	1/3/2014	2,429 13	1,569 85	859 28
20	Lincoln Elec Hidgs, Inc	P	6/24/2010	7/10/2014	1,337 02	531 38	805 64
145	OmniAmerican Bancorp, Inc	P	1/16/2013	5/2/2014	3,511 14	3,637 16	(126 02)
35	Omnicare, Inc	P	6/24/2010	7/10/2014	2,292 42	854 80	1,437 62
30	Omnicare, Inc	P	8/6/2010	7/10/2014	1,964 93	657 20	1,307 73
20	Omnicare, Inc	P	10/18/2010	7/10/2014	1,309 95	465 90	844 05
190	Southwest Bancorp Okla	P	1/15/2013	7/31/2014	2,905 32	2,432 34	472 98
70	Tidewater, Inc	Р	6/24/2010	9/30/2014	2,745 40	2,839 05	(93 65)
30	Tidewater, Inc	Р	10/18/2010	9/30/2014	1,176 60	1,416 75	(240 15)
60	Tidewater, Inc	P	1/15/2013	9/30/2014	2,353 19	2,765 70	(412 51)
40	WABCO Holdings, Inc	Р	11/6/2012	3/6/2014	4,135 42	2,428 06	1,707 36
30	WABCO Holdings, Inc	Р	11/6/2012	7/10/2014	3,148 61	1,821 05	1,327 56
5	WABCO Holdings, Inc	Р	11/6/2012	10/6/2014	447 94	303 51	144 43
40	WABCO Holdings, Inc	Р	4/18/2013	10/6/2014	3,583 48	2,635 92	947 56
	Total long term				204,898 44	134,134 64	70,763 80

ESBENSHADE FOUNDATION
Statement #2 990-PF 2014
Part IV Capital Gains and Losses for Tax on Investment Income

SHORT-TERM

a Shares	Common Stock	b How acquired c	Date acquired	d Date sold	e Gross sale t	. Depreciation g Cost	h Gain or (loss)
350	Chesapeak Energy Corp.	G	12/4/2013	4/25/2014	10,116 21	9,481 50	634 71
200	J P Morgan Chase & Co.	G	12/4/2013	4/25/2014	11,161 77	11,368 00	(206.23)
100	Valeant Pharm Intl, Inc.	G	12/4/2013	4/25/2014	13,326 71	10,814 50	2,512 21
1620	Serco Group PLC SHS	Р	7/21/2014	11/25/2014	4,390 55	9,980 62	(5,590 07)
30	Serco Group PLC SHS	Р	Vanous	11/19/2014	90 73	186 71	(95 98)
23	Serco Group PLC SHS	Р	Vanous	11/20/2014	64 70	142 84	(78.14)
10	Serco Group PLC SHS	Р	Vanous	11/24/2014	26.44	62 09	(35 65)
62	Serco Group PLC SHS	Р	Vanous	11/25/2014	165 85	384 44	(218 59)
4	Serco Group PLC SHS	Р	Various	12/2/2014	10 79	24 75	(13 96)
12	Serco Group PLC SHS	Р	7/18/2014	12/18/2014	31 67	74 20	(42 53)
34	Serco Group PLC SHS	Р	Vanous	12/23/2014	86 08	209 88	(123 80)
14	Serco Group PLC SHS	Р	Vanous	12/24/2014	34 85	86 08	(51 23)
6	Serco Group PLC SHS	Ρ	6/18/2014	12/29/2014	14 88	36 84	(21 96)
20	Serco Group PLC SHS	Р	6/18/2014	12/31/2014	50 11	122 82	(72 71)
25	Nestle SA-Spons ADR	Р	9/16/2013	2/3/2014	1,805 66	1,685 09	120 57
10	Nestle SA-Spons ADR	Р	8/14/2013	2/3/2014	722 26	673 25	49.01
30	Copa Holdings SA	Р	7/10/2014	8/7/2014	3,945 52	4,343 99	(398 47)
0 7953	Fidelity Natl Finl Inc Cl A	Р	1/3/2014	1/6/2014	25 45	25 65	(0 20)
0 323	Fidelity Natl Finl New FNFV	3 P	1/3/2014	7/2/2014	5 27	5 56	(0 29)
70	Lender Processing	Р	1/15/2013	1/3/2014	2,615 99	1,671 83	944 16
80	Lender Processing	Р	12/11/2013	1/3/2014	2,989 71	2,857 15	132 56
100	OmniAmerican Bancorp, Inc	Р	9/27/2013	5/2/2014	2,421 47	2,474 50	(53 03)
90	Southwest Bancorp Okla	Р	8/16/2013	7/31/2014	1,376 21	1,428 23	(52 02)
	Total short term				55,478 88	58,140 52	(2,661 64)

ESBENSHADE FOUNDATION 990-PF 2014 Schedule in support of Part II, Item 10b

<u>sym</u>	COMPANY	# OF SHARES	AVERAGE /SHARE	TOTAL COST	31-Dec-14 QUOTE
МО	Altria Group Inc	825.00	18.26	15,063	40,648
BUD	Anheuser-Busch, Inc.	525.00	53.93	28,311	58,968
PM	Phillip Morris Intl, Inc	1,015	44.17	44,834	82,672
BTAFF	British American Tobacco	575.00	29.50	16,961	31,380
Bf.a	Brown Foreman Corp- Cl A	412.00	31.88	13,134	36,157
CFRUF	CIE Finance Richemont A S	815.00	25.60	20,861	73,210
CVX	Chevron Corp	150.00	60.07	9,011	16,827
DGEAF	Diageo PLC	1000.00	14.48	14,479	28,823
XOM	Exxon Mobil Corporation	200.00	58.66	11,731	18,490
FMX	Fomento Economico Mex	250.00	44.45	11,112	22,008
HENAF	Heineken Holding	1125.00	31.46	35,390	70,693
MLM	Martin Marıetta Materials Inc	200.00	69.28	13,856	22,064
MA	Mastercard, Inc CI A	1,010.00	21.89	22,109	87,022
NSRGY	Nestle SA Sponsored ADR	1,530.00	38.33	58,651	112,325
PEP	Pepsico Inc	275.00	56.04	15,411	26,004
PDRDF	Pernod Ricard S A ORD	560.00	77.51	43,407	62,518
SBMRF	SABMiller PLC	1,325.00	21.46	28,434	69,439
SNI	Scripps Networks	150.00	43.49	6,523	11,291
SWGAF	Swatch Group AG	92.00	425.91	39,184	41,340
UN	Unilever N V \	1,375.00	30.66	42,153	53,680
WFC	Wells Fargo & Co-New	1,500.00	27.00	40,498	82,230
	Total			531,113	1,047,789

<u>SYM</u>	COMPANY	# OF SHARES	AVERAGE /SHARE	TOTAL COST	31-Dec-14 QUOTE
CFRCH	CIE Financiere Richemont	21.00	86.76	1,822	1,877
CAB	Cabelas, Inc.	30.00	64.13	1,924	1,581
FAST	Fastenal Co.	215.00	43.42	9,335	10,225
GOOGL	Google, Inc. CI A	3.00	284.74	854	1,592
GOOG	Google, Inc. CI C	3.00	283.83	851	1,579
IDXX	Idexx Laboratories, Inc.	21.00	82.90	1,741	3,114
IMIAF	IMI PLC Ord Shs	102.00	14.60	1,489	2,008
IBM	International Business Macl	9.00	189.38	1,704	1,444
JEC	Jacobs Engr Group, Inc.	34.00	45.72	1,554	1,519
LCCTF	Loccitane Luxembourg	220.00	2.23	491	555
NVZMF	Novozymes A/S Shs B	275.00	26.65	7,330	11,550
ORLY	O'Reilley Automotive, Inc.	18 00	81 43	1,466	3,467
PCP	Precision Castparts Corp	18.00	185 08	3,332	4,336
SECCF	Serco Group PLC	130.00	6.05	787	326
SIRO	Sirona Dental Systems, Inc	35.00	42.90	1,502	3,058
TJX	TJX Companies, Inc.	36.00	42.80	1,541	2,469
TIF	Tiffany & Company	26.00	56.28	1,463	2,778
VRX	Valeant Pharmaceuticals In	273.00	47.84	13,060	39,069
WAT	Waters Corp.	23.00	80.62	1,854	2,593
INT	World Fuel Svcs Corp	74.00	35.91	2,657	3,473
ZTS	Zoetis, Inc., CI A	57.00	30.29	1,727	2,453
	Total			58,484	101,066

<u>SYM</u>	COMPANY	# OF SHARES	AVG COST PER SHARE	TOTAL COST	31-Dec-14 QUOTE
AGCO	AGCO Corp.	190	57.68	10,958	8,818
AIR	Alere,Inc.	335	24.07	8,064	12,747
AREX	Approach Resources, In-	735	18.41	13,530	4,778
ASNA	Ascena Retail Group, Inc	915	16.30	14,917	11,410
AGP	Assured Guaranty Ltd	370	25.03	9,260	9,809
AVT	AVNET Inc	295	27.93	8,239	12,998
BWC	Babcock & Wilcox Co.	360	24.88	8,957	11,052
OZRK	Bank of the Ozarks	145	9.56	1,387	5,507
BBG	Bill Barrett Corp.	890	18.69	16,631	10,288
CVBF	CVB Financial Corp.	440	8.29	3,648	7,216
XEC	Cimarex Energy Co.	25	51.37	1,284	2,757
СҮН	Community Health Syste	180	22.15	3,988	9,891
CPA	Copa Holdlings, Inc.	75	91.13	6,835	7,650
FNF	Fidelity Natl Finl, Inc.	400	26.29	10,517	14,104
FNFV	FNFV Group	405	15.58	6,309	6,128
GST	Gastar Exploration Ltd	1,925	6.25	12,034	4,928
HUB.B	Hubbell Inc. CL B	55	46.14	2,538	5,971
HBMFF	HudBay Minerals Inc.	1,670	10.14	16,930	14,312
ITT	ITT Corporation	135	19.96	2,694	5,570
KBR	KBR Inc.	465	26.14	12,153	8,012
LECO	Lincoln ElecHLDGS	95	28.33	2,691	6,668
LXU	LSB Industries, Inc.	250	33.87	8,468	7,940
LXFR	Luxfer Hldgs PLC	665	20.61	13,707	9,988
NBHC	National Bank Holdings	475	19.78	9,397	9,381

ESBENSHADE FOUNDATION 990-PF 2014 Schedule in support of Part II, Item 10b

<u>SYM</u>	COMPANY	# OF SHARES	AVG COST PER SHARE	TOTAL <u>COST</u>	31-Dec-14 <u>QUOTE</u>
NIHDQ	NII Holdings	1,365	16.09	21,962	26
OCR	Omnicare, Inc.	130	34.88	4,535	9,585
SAH	Sonic Automotive, Inc.	345	25.44	8,778	9,536
SPR	Spirit AeroSystems	330	19 62	6,476	14,339
VPFG	Viewpoint Financial Gp	225	12.55	2,823	5,360
WRB	W. R. Berkley Corp.	280	28.32	7,930	14,512
	Total			257,638	261,279

<u>SYM</u>	COMPANY	# OF SHARES	AVG COST PER SHARE	TOTAL COST	12/31/14 QUOTE
AXP	American Express	815	78.26	63,782	75,828
CAB	Cabelas, Inc	310	64 30	19,934	16,340
ко	Coca Cola Co.	1,400	21.30	29,822	59,108
COIHF	Croda Intl PLC	500	29.60	14,800	20,754
DG	Dollar General Corp.	1,000	49.84	49,835	70,700
EXORF	Exor S P A Preferred	480	30 98	14,872	19,704
FAST	Fastenal Company	222	45 03	9,997	10,558
FMX	Fomento Econ Mex SAB AC	470	42.66	20,049	41,374
GS	Goldman Sachs Group, Inc.	70	144 15	10,091	13,568
GOOGL	Google, Inc. Cl A.	25	286.48	7,162	13,267
GOOG	Google, Inc. CI C	25	285.56	7,139	13,160
HCXLF	Hiscox Limited	1,584	6 32	10,006	17,777
HBC	HSBC HLDGS PLC ADR	136	53.353	7,256	6,423
IDXX	Idexx Laboratories, Inc.	300	148.425	44,528	44,481
IMIAF	IMI PLC	892	16.656	14,857	17,385
IBM	International Business Mach	75	129.900	9,743	12,033
JEC	Jacobs Engineering Group	356	56.172	19,997	15,910
LLTC	Linear Technology Corp.	530	28.307	15,003	24,168
LOW	Lowes Companies, Inc.	100	46.560	4,656	6,880
MA	Mastercard Inc CI A	800	72.034	57,627	112,008
NSRGY	Nestle SA Spons ADRS	250	230 79	57,699	90,093
NVZMF	Novozymes A/S Shs B	650	30.08	19,550	27,300
ORLY	O'Reilly Automotive Inc	320	31.40	10,048	61,638
PRGO	Perrigo Company PLC	170	155.34	26,408	28,417
PM	Phillip Morris Intl, Inc.	400	85.53	34,210	32,580
PX	Praxair, Inc.	260	76.9440	20,005	^{33,686} Page 5 of 6

ESBENSHADE FOUNDATION 990-PF 2014 Schedule in support of Part II, Item 10b

SYM PCP	COMPANY Precision Castparts Corp	# OF <u>SHARES</u> 140	AVG COST PER SHARE 71.9080	TOTAL <u>COST</u> 10,067	12/31/14 QUOTE 33,723
PG	Procter & Gamble Company	738	73.4222	54,186	67,224
RSG	Republic Services, Inc.	500	29.9370	14,969	20,125
RYCEF	Rolls Royce Group PLC Shs	1,501	10.0382	15,067	19,903
SHW	Sherwin Williams Co.	300	221.1867	66,356	78,912
SIRO	Sirona Dental Systems,Inc.	240	41.5627	9,975	20,969
TIF	Tiffany & Company	165	59.9371	9,890	17,630
TJX	TJX Companies, Inc.	540	18.6298	10,060	37,033
TRMB	Trimble Navigation Ltd.	840	17.8810	15,020	22,294
UPS	United Parcel Service	125	80.66	10,083	13,896
VRX	Valeant Pharaceuticals Int'l	776	18.66	14,482	111,053
WAT	Waters Corp.	200	74.76	14,951	22,544
WFC	Wells Fargo	535	27.43	14,677	29,329
	Total			858,857	1,376,058
	Subtotal from page 1 Subtotal from page 2 Subtotal from page 4		_	531,113 58,484 257,638	1,047,789 101,066 261,279
	Grand Total			1,706,092	2,786,192